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FN: AENSER NGHEH
HE: FOBMOAL &3
el SAAE2Z Y2 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O&FI|ItE HIIZH A 60,000& * 13 60
o=ZgH EU 220,000& = 6K 1,320
O=AMIIEYE EH 260,000& * 204 520
O S AHE Xl (A4) 21,0003 » 202 A 420
OHAEE 500,000& 500
02 2324l 122,673 100,450 22,223
O3+ HIIANE RX2c 32,400
Oss+ &Jles 2,700,000& = 12& 32,400
O3+ HIIANE KX 44,471
OZHAIAE SX2eltl
202,927,130& * 6% 12,176
OgdEIl sX2eldl 1,000,000& * 1CH 1,000
OCCTV s Xl 2eldl 300,000 * 34CH 10,200
O=z&dg syl 85,000&  107CH 9,095
Oxgs |X2ctl 3,000& = 44,0004 12,000
O+ ANE=RX 22 31,802
OFaE—E=PNL:] 2,881&  468m’ 1,349
O&JIANeEs X2l
209,871,870& * 6% 12,593
OstM2X2Il | X 2elbl 5,000,000& 5,000
ORdS4I| X2l 5,000,000& 5,000
ORI 7 AMAEX S22/l
130,000& * 2204 & 2,860
Of=d 82 ¥ &€E23 2224
5,000,000& 5,000
0=+ W Al 5,000,000 5,000
oz a2 |FA2el 9,000, 000& 9,000
202 O4dl 3,600 3,600 0
01 = LH o4 1l 3,600 3,600 0
OAN&s2e FRFI0o
20,0003 = 5% = 3¢ » 123 3,600
401 Al HIZ 201 Y] 31,666 0 31,666
01 A& HI 31,428 0 31,428
O02s7? BExEZLSAM 22,000,000& * 14 22,000
O3s7 Ex2Z3A dAEHEH
22,000,000& * 6.49% 1,428
O+ A= TMIA 8,000,000& = 14 8,000
03 AIE 2 THHI 238 0 238
O3+ EE2L3A AIERUHI
22,000,000& * 1.08% 238
AMARSIE 2 NSt S 15,039,762 17,201,866 A2,162,104
Xl 162,000
Al 14,877,762




2N
X ZH -
L= B

el

AENSER NAHEH
ANRIRSEEZ2WNEI| X
ANRIEStE S 2&F |

0x

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AMBIZISE 283 EH| 8,508,965 7,542,089 966,876
X 50,000
Al 8,458,965
WSOHHAIE=E X £ WHAE 1,093,140 713,300 379,840
401 AIEBI L 20HEI 1,093,140 713,300 379,840
01 A& Hl 1,088,140 709,700 378,440
OLSCHEANAES RAESALZ 300,000,000 300,000
ONSATAELES FANEAY HALHES
300,000,000 * 4.43% 13,290
OuUXZYE HI ALY 50,000, 000& 50,000
OJIE RBXRg =ctE HHIAY  700,000,000& 700,000
OJIE 2Xg =ctE FdAgY
700,000,000& * 3.55% 24,850
03 AlE S THHI 5,000 3,600 1,400
OA &SI 5,000,000& 5,000
& A 5,492,000 1,807,080 3,684,920
207 RO 50,000 0 50,000
02 & LRI 50,000 0 50,000
OXNHEM SS4E & Olg2e T2 +
=EMG 50,000,000& * 14l 50,000
401 Al HIZ 2018 5,412,000 1,806,480 3,605,520
01 A& HI 5,400,000 1,800,000 3,600,000
OFQUEZXR)AEEZE HEEHM
3,500,000, 000& 3,500,000
O8.8X9 Xtd=M 1,500,000, 000& 1,500,000
OXNEE M 215844728, ZEAN EYS)
100,000,000& * 400+ 400,000
03 Al 2 THHI 12,000 6,480 5,520
OAIE S HHI 12,000, 000& 12,000
405 RHoHE S HI 30,000 0 30,000
01 ML SEF S| 30,000 0 30,000
OXMTH HESHI| 2Y
30,000,000& = 1K 30,000
WEMD SR HLAY 703,000 85,360 617,640
Xl 50,000
Al 653,000
401 Al HIZ 201 I 703,000 85,360 617,640
Xl 50,000
Al 653,000
01 A& HI 700,000 84,800 615,200
OusAD 2= N A 600,000,000& 600,000
O3F AN WSALD 22 HE ALY
100,000, 000& 100,000




FN: AENSER NGHEH
M ARG EEZWSIIBES
Helr AQESE S2EFE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 50,000
Al 50,000
03 Al 2 THHI 3,000 560 2,440
OWSAID 2R HAAY AIE20UHI
3,000,000& 3,000
2lls A2 412,000 378,909 33,091
201 ¢er24| 2,000 2,764 AT64
01 At 22l 1,000 1,764 AT764
OMEXE 23 BIAANHA R0l
2,000& = 58 ~ 100& 1,000
02 =224l 1,000 1,000 0
O HEHE RABI(FEII)
1,000,000& * 1CH 1,000
305 tHal=s 10,000 10,000 0
01 Hia=s 10,000 10,000 0
OWSHEAIL At HH&Z
500,000& = 203l 10,000
401 Al HI K 201 I 400,000 366, 145 33,855
01 A& Bl 400,000 366, 145 33,855
O1=s2(828s) MASEE(L=350m,8=22m)
400,000,000 400,000
ZANE SR2e 64,825 5,160 59,665
201 Let24d] 11,040 5,160 5,880
02 23=24gHl 11,040 5,160 5,880
ORIt W=Jt0et I AHE
3,500,000 * 30H A 10,500
ORoltts W=EJtMet HIIRsS
15,0003 * 3 A * 128 540
401 AIEHI L 2 CHYI 53,785 0 53,785
01 A& HI 53,245 0 53,245
OMEAOHEZ RAZCIALY  50,000,000& 50,000
OMEAOHEZZ A2 HALHES
50,000,000& * 6.49% 3,245
03 AlE R THHI 540 0 540
OMEROHETZE RXZAClAI AlEL20HEI
50,000,000& * 1.08% 540
WX 2 ALS 744,000 0 744,000
401 Al HI K 201 I 744,000 0 744,000
01 A& Bl 740,000 0 740,000
O&eclui=2 AL 300,000, 000& 300,000
TR WXE HLALS 423,000,000 423,000




FN: AENSER NGHEH
M ARG EEZWSIIBES
Sl ARIEEE S2EFTY (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OF2 WIZ HOAY AAIEAbI
17,000, 000& 17,000
03 Al 2 THHI 4,000 0 4,000
OA &SI 4,000,000& 4,000
SMNESIIBEY 3,521,267 2,080,501 1,440,766
Xl 112,000
Al 3,409,267
NHEHAIE SR 2l AY 229,597 365,229 A~ 135,632
206 M= Hl 10,000 10,000 0
01 =8l 10,000 10,000 0
OXNEAN S0 L AX&H 2
200,000& * 503l 10,000
401 Al HIZ 201 Y] 219,597 353,229 A 133,632
01 A& HI 218,070 348,000 A 129,930
ONEN HEZ=Z K2l 100,000, 000& 100,000
OXNEANEZH S| 30,000, 000& 30,000
OXNEANZS2UAX 600,000& = 10X 6,000
OXNEN nsSetdEXE FHl
200,000& * 1000 A& 20,000
ONENHEETZ HEXY FHI
100,000& * 1009 A& 10,000
ONHEHEZ AR &3
2,000,000 = 30H A 6,000
OX&EN 8Hx &X 5,000,000 * 84 40,000
ONMENEZ FAZElAY AdALHEA
100,000,000& * 6.07% 6,070
03 AIE 2 THHI 1,527 5,229 AN3,702
OA &SI 212,000,000& * 0.72% 1,527
Helol 25729 ALY 827,000 137,215 689,785
Xl 112,000
Al 715,000
401 Al HIZ 2018 827,000 137,215 689,785
Xl 112,000
Al 715,000
01 A& HI 824,000 136,305 687,695
O0eol Esa9 Ha A 600,000,000 600,000
OSSR XA 44 HElol 2579 e A
A 224,000,000 224,000
X 112,000
Al 112,000
03 Al 2 THHI 3,000 910 2,090
O020l B+ A AIES2HYI
3,000,000 3,000
A8ns 2el 23,000 17,400 5,600




FN: AENSER NGHEH
M ARG EEZWSIIBES
gel: sMuSIIgEd (eel:&d)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 ¢er24| 8,000 6,400 1,600
01 At 22l 8,000 6,400 1,600
OALENS=EF LRAEAN R
10,000& = 80 = 102 8,000
203 YR =&l 15,000 11,000 4,000
03 AIMF=XH R =AH| 15,000 11,000 4,000
osetge =32 9,000,000 9,000
OAs AL 2@ QML = 6,000,000 6,000
AHANOIE SHSALS 535,670 708,104 A172,434
201 et 10,000 10,000 0
01 At 2teltl 10,000 10,000 0
OXENOIE EE IS8 M
1,500 » 2,0000H 3,000
OXNEAN NEHMWE ZASH
70,000& = 1003l 7,000
307 21201 A 16,000 16,000 0
05 RIZt2IEt = 16,000 16,000 0
ORNFEAHNL U PRASE 29
16,000, 000& 16,000
401 AIEHI L 2 CHYI 509,670 679,304 A 169,634
01 A& HI 506,070 677,000 A 170,930
OXNENERZ HEZ2Z A 200,000, 000& 200,000
OXNEANE=Z FHHI 100,000, 000& 100,000
OXNEANEZ HH HANLHEH
100,000,000& * 6.07% 6,070
0282 NMHEZ HU| AL (L=1.0km)
200,000, 000& 200,000
03 AIE =2 THHI 3,600 2,304 1,296
OAIZ 2 HHI 500,000,000& * 0.72% 3,600
NEAHL LA ELHS 2F A 1,000 1,000 0
203 ¥R =&l 1,000 1,000 0
03 A=A H =AY 1,000 1,000 0
OXYIHL gR=2 1,000,000& 1,000
SR MM Y NGENEZ FHHIALS 1,905,000 0 1,905,000
401 Al HIRK 201 I 1,905,000 0 1,905,000
01 A& Bl 1,900,000 0 1,900,000
OR4E ¢z L UHEHEZ FHIAZ(L=9.0
km, B=4.5m) 1,900,000, 000& 1,900,000
03 AlE 2 THHI 5,000 0 5,000
ORH MM ¥ UEANEZ FHIAMG AL
Sl 5,000,000& 5,000




2N
X ZH -
L= B
el

(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
SE T2 == 3,009,530 7,579,276 N4 ,569,746
SIAMtEE S I A A 201,440 120,864 80,576
401 Al HI L 2 04| 201,440 120,864 80,576
Al & H| 201,440 120,000 81,440
Ot E St 1L 2 2 AF(L=1.4km,B=8.0m)
200,000,000 200,000
OStNEZ ST HBA AIE 20|
200,000,000& * 0.72% 1,440
MGI-ALQI2 &= 2 & T A2 AL 503,600 302, 160 201,440
401 Al HI L 2 0HHI 503,600 302, 160 201,440
01 Al& H| 500,000 300,000 200,000
OAS~ALQI2 &2 & & 2 AH(L=1.9km)
500,000, 000& 500,000
03 Al 20| 3,600 2,160 1,440
OANSI~AIQI 2 E2E T DAL AIE 20|
500,000,000& * 0.72% 3,600
SS-HA2 S 2ETZT A DAL 302, 160 0 302, 160
401 AlEHIZ S 0HY| 302, 160 0 302, 160
01 Al&H| 300,000 0 300,000
OS2~ A2t E 2 I A2 AHL=1.0km)
300,000,000& 300,000
03 Al 20| 2,160 0 2,160
O=~8a2 E2E T EZ AL AIE 20|
300,000,000 = 0.72% 2,160
e HlAtel T2 ST E B A 50,000 0 50,000
401 AlEHIZL £ 0HY| 50,000 0 50,000
01 Al&H| 50,000 0 50,000
©Jte Hatel =2 LA 2 AHL=0.06km)
50,000,000 50,000
2A B 5|2 S 2 EEZ DAL 50,000 0 50,000
1 AIEHIZ 20| 50,000 0 50,000
01 Al&H| 50,000 0 50,000
o=t 25|2] E 2L A2 AHL=0.27km)
50,000,000 50,000
QE WNWAHZ =2 SHIEZ DA 70,000 0 70,000
401 AlEHIZL 201 Y| 70,000 0 70,000
01 Al&H| 70,000 0 70,000
ORRE NFEl T2 LA ZAHL=0.45km)
70,000,000 70,000
20| 95t 2 S L Z2A 251,800 0 251,800
401 Al HI L 2 0HHI 251,800 0 251,800




EXN: AdEnNse: Y9y
M ANORFE NSRS
He: =2 T2 = (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 Al&H| 250,000 0 250,000
O=20| 9ol 2 A2 AHL=0.4km)
250,000,000& 250,000
03 AlE 201 Y| 1,800 0 1,800
O=0] Gol=2 SZXHZA AIZ20H|
250,000,000 = 0.72% 1,800
2U~2H2 S 2T A2 AL 704,410 0 704,410
AEH Y200 704,410 0 704,410
01 A& H| 700,000 0 700,000
O~ AH2 T 2SI X AHL=1.24km)
700,000,000& 700,000
03 Al&E 201 Y| 4,410 0 4,410
o oA 2t ST BAF AIZE20HI
700,000,000& % 0.63% 4,410
HES-AH2H 2EHY = 352,520 0 352,520
401 A& HI L 204 HI 352,520 0 352,520
1 Al&H| 350,000 0 350,000
OX=Z~HH 2t S S I Z AH(L=0. 18km)
350,000,000 350,000
03 Al 201 Y| 2,520 0 2,520
OXZ~HH 2t SCHEIMEZ2AF AIEE20Y|
350,000,000& * 0.72% 2,520
RU~AHOHOL 2 &I A 503,600 0 503,600
401 Al HI L E0HHI 503,600 0 503,600
01 A& H| 500,000 0 500,000
2 2A~AHOH2F & 2 S A 2 AF(L=0.98Kkm)
500,000,000 500,000
03 A& E2HH] 3,600 0 3,600
OUA~LUAY TRATHIA ALY
500,000,000& * 0.72% 3,600
=l 2diig] oIS A X b 20,000 0 20,000
401 Al HI L £ 0HHI 20,000 0 20,000
01 Al& B 20,000 0 20,000
ol 28i1g| ol & & X2 AH(L=0.38km)
20,000,000 20,000
S AZH (AL NEESE A ) 459,208 410,611 48,597
24| 111,662 93,855 17,807
=34l 111,662 93,855 17,807
201 LBt 67,922 54,115 13,807
01 AP 22| H| 40,572 31,272 9,300
oJlegsd gl 10,500,000 10,500




SN AEDERLS NAWL D
M HMSAHH (AL nsS=2E XEHL)
erel: Jl= 2| (29 a8)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
©Jl=&ddl (S&4l) 10,584,000 10,584
O2IIEEX HAR=EES 30,0008 * 12& 360
oBEM4TZZE X224 130,000& * 128 1,560
OS2 ADBAIZ (DFinder) & Xl &2 2=H|
17,820,000 * 10% 1,782
O%%2(U2EE, 26IZ) 100,000 * 108l 1,000
oE8sEM YHWI} +48
500,000& = 2JHAF = 23] 2,000
OXNENE HES 222 1,936
O&E 4 330,000& * 48+ A 1,320
oeg 154,000 * 4N E 616
OH*AHAYUAET P2 50,000& = 53 250
O=s Mo ¥ Tz X Xt
800, OOO?_ * 100 128 9,600
ODnNEEz2 SHS(SH0ITHA) 50,0008 = 203 1,000
02 3524t 27,350 22,843 4,507
o=gxtg 22l 27,350
Oxg2e2g & 1,650
-=2x UE 400,000 ~ 1CH 400
-S52i 58 350,000& = 2CH 700
-SIEX AE 550,000 = 1CH 550
OHNEsSAN=LE2 (5 ,32)
27,000& * 404 * 23] 216
OtAFUAAN(SE2,32) 51,0008 = 30H 153
OZ2 LS (XNSXA, SFHEEHZ2) 1,400
-8 GE 600,000& = 1CH 600
-E8ik 58 300,000& = 2CH 600
-SIEX AE 200,000& * 1CH 200
OX &R XIHI 23,931
-5E2Xx 4,908,000 = 404 19,632
-3t = Xt 4,299,000& = 1CH 4,299
202 04t 22,680 22,680
01 2L Y] 22,680 22,680
OJl=Z& | 22,680,000& 22,680
203 =&| 11,060 11,060
01 J|2A2SHHR=XH| 3,300 3,300
(OPJES 3,300,000& 3,300
02 MRt R =AY 3,560 3,560
OXFJ MG EF=X 40,000& * 89Y 3,560
04 BN2AALEAY| 4,200 4,200
OJ|= (3002 0l5t) 350,000& = 12& 4,200
405 Xt 3 S| 10,000 6,000
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> A
A & 0l & AF 2 E A A
SN ALDESE CT2AED
HH: PACA (fH ASHO oNE TRISY IS
©9l: FQAM BACEY XI| S (el @ e)
o
SN HH - (EH) - HRAY - BES 0l &k o4 e Hl DS 2
ALUERL T2AED 34,173,473 36,354,943 ~2,181,470
ZOCAl fH HSHO oNE TRISY IS 30,891,430 35,148,864 4,257,434
ZQUM BATRY XTI 7S 17,918,000 23,604,608 15,686,608
SAUSHZ B ALY 1,705,000 802,880 902, 120
401 Al HI L 2 THHI 1,705,000 802,830 902, 120
01 Al&H 1,700,000 800,000 900, 000
ORAUSZ(HLD-2EMHL)SY B AH(L=0.64k
m, B=25m—35m) 1,700,000,0002 1,700,000
03 AlE 2 HHI 5,000 2,880 2,120
ORAUSZ(HLN-2EHL)AY JA Al&=
ch gl 5,000,0008! 5,000
Moz#2 (MEFD~SEDME)NE DA 7,010,000 2,006,480 5,008,520
401 Al HI L 2 THHI 7,010,000 2,006,480 5,008,520
01 Al&H 6,500,000 1,800,000 4,700,000
OM2ESZ2 (MNEFD~-SEDRNZ) HEBAHL=
1.88kn, B=35m) 6,500,000,0002 6,500,000
02 el 500,000 200,000 300, 000
ON2EEZ(NFFN-EHINE) WEBA
przigl 22|l 500,000,000 500,000
03 AlE 2 HHI 10,000 6,480 3,520
OM2=SZ (MNEFD~-SEDRNZ)HEZA Al
&2 0l 10,000,000 10,000
Moz82 (SRDNE~-SZDIE) HFIA 1,004,000 881,388 122,612
401 Al HI L 2 THHI 1,004,000 881,388 122,612
01 Al Hl 1,000,000 875,870 124,130
OM2=B2(SEDN2~STDIZ) HF A
L=3.06km, B=20m—35m) 1,000,000,000% 1,000,000
03 Al&Z 2 I 4,000 5,518 A 1,518
OM2=#2(SEDAN2-STNIZ) AN
A& 2 Ol 4,000,000 4,000
Y (2Y-2Y) UM 2AL 3,405,000 2,900,000 505, 000
LT 3,405,000 2,900,000 505, 000
01 Al Hl 3,400,000 2,900,000 500, 000
ORCHHIITZ(SYL~Y) AL B AHL=13.
08Kkm, B=20m) 2 AMH 3,400,000,0002 3,400,000
03 Al& 2 I 5,000 0 5,000
FCUHMPIEZ(SY~LY) ALBA Al
20l 5,000,000 5,000
NYZ(WHENR-FZOAN2) S 1,504,000 5,013,500 3,509,500
401 Al HI L = TH I 1,504,000 5,013,500 ~3,509,500
T 1,500,000 5,000,000 3,500,000




PN AENSER S2AEH
M FATA O ASHQ NG TRISY PE
SR FRUM PAEZY XI| PE (B9 ®R)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
oagZ &&IAH(L=0.31km, B=25m—35m)
1,500,000, 000& 1,500,000
03 Al 2 THHI 4,000 13,500 A 9,500
OUYZ SHEHSA AIZR0HHI 4,000,000& 4,000
Al 2(SL A ~H2=s2 )& & 3,000,000 302, 160 2,697,840
401 Al HIZ 201 8] 3,000,000 302, 160 2,697,840
01 A& HI 3,000,000 300,000 2,700,000
OUA& Z & & T AH(L=1.0km, B=25m—35m) & &tH|
3,000,000, 000& 3,000,000
NEZ(HAIAMH~FTE A2 200,000 0 200,000
401 A& HIZ 201 Y] 200,000 0 200,000
01 A& HI 200,000 0 200,000
OMEZ(ASAHI~=EAMACI) S E T AHL=1
.5km, B=25—35m) &l Al & I 200,000,000 200,000
EXNY E2usd 25 &9 90,000 0 90,000
207 A& H| 90,000 0 90,000
01 2284 90,000 0 90,000
OEXNGLME et T2NsSY A5
90,000,000& =« 14 90,000
CHNE S8Hel & AHEA 2E 12,085,717 5,504,773 6,580,944
SAMY JEHYEX 24 1,111,470 1,111,470 0
201 Let24d] 3,342 3,342 0
01 At 2teltl 3,342 3,342 0
oEAIZZIOY KRAB=H  130,0008 » 128 1,560
OS2 ADBA = (DFinder) = Xl 8224l
17,820,000& * 10% 1,782
401 Al HIZ 201 Y] 1,108,128 1,108,128 0
01 A& HI 1,104,240 1,104,240 0
OJIHYEX ZAa(12m0l &)
45,000,000 = 24Z X 1,080,000
OMMH BHES =2 24,240
O =8 358,000& = 30Z X 10,740
OLHHI} 242
200,000& = 30Z Xl = 2042J| 2 12,000
OSJEE =8 50,000& = 30Z X 1,500
03 A& =TI 3,888 3,888 0
OZAAY JBUEX 24 AIZR20H
1,080,000,000& * 0.36% 3,888
EZ2I/HY AR D] 28,128 23,548 4,580
101 @124 dl 12,128 11,314 814
04 JI2ZHHZ2XREES 12,128 11,314 814




EA: HENEE2E T2 A&
Ha: OTA Y ASHO JFEE TRISY 7S
Chel: CATDE 2AX2 L HHCA PH EERED
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OBMXNE BRERA B4 12,128
OBAXE BRE £7 o2y
51,800 * 19 x 262 * 88 10,775
O=20dZ fE2 10,775,000& * 4.5% 485
OlnlggEss 2432 10,775,000 = 1.5% 162
ONATHN B = 10,775,000 * 1.42% 154
O=Z0AHA2AEs 2 B2
10,775,000& = 3.06% 330
OFIISYLHSBEHE 23
330,000& * 6.55% 22
O™ A SIHYI 200,000& * 1Y€ = 13| 200
201 LBt | 16,000 12,234 3,766
01 AP 22| d| 16,000 12,234 3,766
OASMAZ D] 16,000
OANSTHA SI=E =2
500,000 = 20E X| 10,000
OANSHARD AsHE(SE2, 2AXH)
300,000 = 20E X| 6,000
2es A2 WEZA 816,500 0 816,500
401 Al HI L £ 0HHI 816,500 0 816,500
01 Al& b 813,500 0 813,500
ozt AUZ T 2IAE 2 AH(L=0.3km, B=20m)
HelZ X2 A 800,000,000 800,000
OMMA BHE =3 13,500
O2BEI242
200,000 * 30E X| = 2J4D| & 12,000
OSIEE4EL2 50,0008 = 30E Xl 1,500
03 AlE 20| 3,000 0 3,000
o= AU T RINEZ AL AIEE2THY
3,000,000& 3,000
OIELRAIY E~NSaHE|2 S 2 EE Z2A} 1,504,000 463,312 1,040,688
401 AlEHIZL £ 0HY| 1,504,000 463,312 1,040,688
01 Al&H| 1,500,000 460,000 1,040,000
OJIEZ(0IEULR2AE E~D248HL2) =28
&2 AH(L=4.2km,B=20m) 1,500,000,000& 1,500,000
03 AlE 21| 4,000 3,312 688
OJIEZ(OIELR2AE E~D24HLI2) =28
DA AIE 2 0HH] 4,000,000& 4,000
s SAHECSZ2(YXZ =) HE Z2A 2,005,000 530,600 1,474,400
401 AlEHIZL 2 0HY| 2,005,000 530,600 1,474,400
01 Al&H| 2,000,000 527,000 1,473,000
OlZEs A2 T2 EZ2AF HA S X B4
2,000,000,000& 2,000,000




2N
X ZH -
L= B

el

ALDERSY T2ALD
FACA Ul HSHQ QNS CE2NSY PE
SHDE BMHR L AHCA P

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 AlE 2 THHI 5,000 3,600 1,400
O0ES X2 T2IME S AL A2
5,000,000& 5,000
Olsd MEEZ WHIIZ EX3A 1,504,000 0 1,504,000
401 Al HI K 201 I 1,504,000 0 1,504,000
01 A& Hl 1,500,000 0 1,500,000
Olla® Mgs=z WXz & X3 AH(L=4.65kn
, B=8.5m) 1,500,000, 000& 1,500,000
03 AlE 2 THHI 4,000 0 4,000
O0lsd HMZEZ WAHXZ AXSA AIE2NH
i 4,000,000 4,000
ez SZEIA(I72) 3,044,000 0 3,044,000
401 AIEHI L 20 3,044,000 0 3,044,000
01 A& Bl 3,039,000 0 3,039,000
OUEZ SZZIAL AAEAHESGHI
30,000,000& 30,000
OUEZ SZZIAL HYEX B4
3,000,000, 000& 3,000,000
O BHE =2 9,000
OLHEI++2
200,000& = 20Z Xl = 204D| 2 8,000
O8JIEg 22 50,000& * 20E X 1,000
03 Al 20 HI 5,000 0 5,000
OLZ = ZI AL AIZR0HHl 5,000,000& 5,000
SHZ(HeESTE~UZMN2E) & S A 31,919 0 31,919
101 @14 Hl 1,919 0 1,919
04 JIZHZ2XNHEE S 1,919 0 1,919
OEY=Z sz A 1,919
OEEE WSTA SAIAIEA R
56,9403 * 22 * 2 * 43| » 24X & 1,823
O2Y=E WSEITA 2tAH|
3,000 22 * 2% * 43| » 24X & 96
401 Al HIZ 201 8] 30,000 0 30,000
01 A& HI 30,000 0 30,000
OBHEZ(HESAH=SE~NUZM2E)&E S AH(L=0.
16km, B=25m) AAIEAHSA 20,000,000& 20,000
OEXZE =& =82 400,000& = 252 X 10,000
NE=IC~F=30t2 T2MHE S A 511,000 0 511,000
401 AIEHI L 2 CHYI 511,000 0 511,000
01 A& HI 509,000 0 509,000
OMEFIC~-==0tES2t E2MESAH B EX
£ 4| 500,000,000& 500,000




EXN: NS T2AIE0
Ha: OTA Y ASHO JFEE TRISY 7S
Chel: CATDE 2AX2 L HHCA PH EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OMAMAH B2 9,000
OLHEI+22
200,000€ = 20 X| = 2J4 20| & 8,000
OSJEE g 50,000& = 202 X 1,000
03 Al&E 201 Y| 2,000 0 2,000
ONEFIC-FTE20IS2 S2IHEZAF AIEE
Hl 2,000,000& 2,000
BRI DE SEdA2LP2~UeS2H T2 L 702,000 0 702,000
401 A& HI L 204 HI 702,000 0 702,000
1 Al& H| 700,000 0 700,000
OHES WHDE SSHAD Y2-HEELSS
S 24 & 2 AH(L=0.97km, B=15m) 700,000
700,000,000
03 AlE 21| 2,000 0 2,000
ONEBE HHDE LBHAY YD-HHERS
S 2IMEZAF AIE 20| 2,000,000& 2,000
W s2HX =8 T2 &2 A 513,700 0 513,700
401 AlEHIZL 2 0HY| 513,700 0 513,700
01 Al&H| 511,700 0 511,700
Oz 22X =Y HEZ2AF HA X B AH|
(L=1.63km, B=12m) 500,000, 000& 500,000
OMMA BsS =42 11,700
OLHEI+42
200,000€ = 26E X| = 2J4 20| & 10,400
OSIEE g 50,0008 = 26Z X 1,300
03 AlE 201 Y| 2,000 0 2,000
Oz 22X F=H MEZ2A AIZ 208
2,000,000& 2,000
2ANZE SE 114,000 0 114,000
401 Al HI L 204 HI 114,000 0 114,000
01 Al&H| 114,000 0 114,000
ORAMNZ(HeR2RXU~TUSEAIAA) SEZ2
AH(L=0.98km, B=20m) AAl&HE2A 90,000
90,000,000
OEXNZ2E & =2 400,000 * 60E X 24,000
MEZW & T=&2 66,000 0 66,000
401 Al HI L £ 0HHI 66,000 0 66,000
01 Al& H| 66,000 0 66,000
OMEBE =1 & S =2st& 2 AH(L=0.35km B=10—25
m MAAEHES 60,000,000 60,000
OEXZE & =& 400,0008 = 15E X 6,000
SAMH QAL SAIHEESZ(E2-51) a2 A 64,000 0 64,000




EXN: NS T2AIE0
Ha: OTA Y ASHO JFEE TRISY 7S
Chel: CATDE 2AX2 L HHCA PH EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
401 AlEHIZL 2 0HY| 64,000 0 64,000
01 Al&H| 64,000 0 64,000
SAH QA2 (F2-51) TAHE =2 HA (L=
0.29km, B=15m) AAI&AHEA 50,000, 000& 50,000
OEX=E & =2 400,0008 » 35E X 14,000
CE2RYEEY L JNE-HDA 29 70,000 0 70,000
401 AlEHIZL £ 0HY| 70,000 0 70,000
01 Al&H| 70,000 0 70,000
OE2RYAA L XETHDA A (L=30km, 4
X0l Aab) 60,000,000 60,000
OEXNZ2E =& =2 400,0008 = 252 X 10,000
TZ AlE A2 187,713 3,512,283 N3,324,570
2EMAH(E2)22 13,553 12,283 1,270
201 2Et24A Y| 10,113 9,843 270
01 AP 2t 2] H| 10,113 9,843 270
O=2K ML 22 9,445
OFHEHE =2 563,0008 » 15E X 8,445
Osis"e =42 50,000& = 202 X 1,000
OZSMAAIE2E EWDXAN 2 668
OzsE 150€ = 3,0000H 450
[@MPNPS] 72,600 * 38+A 218
202 o4 | 1,440 1,440 0
01 2Ll 1,440 1,440 0
O=2SMAa 2tel AEi=AF =&Y
20,000& * 3¥ * 3 x 83 1,440
203 &R F & 2,000 1,000 1,000
03 AIZH =& 2= X H| 2,000 1,000 1,000
OEZ WA HR=X 2,000,000& 2,000
28 ZelAlAE 2el 174,160 155,000 19,160
201 LBt 174,160 155,000 19,160
01 AP 22| d| 40,000 35,000 5,000
OJI2E2oE ZelAlAY AOY0E(HAS)
=9 40,000,000 40,000
02 Z2=2=24%4| 134,160 120,000 14,160
OJIZEotE Ze2|AIAE S 22
130,000,000 130,000
ORQEI M2 HIOIZA =42
2,080,000& = 2CH 4,160
TN sEXNYE HZ2E2 - 700,000 2,527,200 N 1,827,200
HFEA-SAF CZ2EE ZA 700,000 2,527,200 N 1,827,200




PN AENSER S2AEH
=] X

=R Hl ASXol oIXst CRNEY 7S
Oell TAT SENY HECR N CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 700,000 2,527,200 A 1,827,200
02 Zeltl 700,000 520,000 180,000
OHFA-S M CREAZTA oM AAL Y|
700,000,000& 700,000
HH2HAIH(HEnNSE2E S2AED) 52,043 39,344 12,699
Jl=&l 52,043 39,344 12,699
Jl2zl 52,043 39,344 12,699
201 Let24d] 30,563 16,064 14,499
01 At 2teltl 25,664 16,064 9,600
OJlegf+=a8 A 8,000,000& 8,000
o3gdl(JIE&Hl) 8,064,000& 8,064
O=2%"Me L E2HEA2 U X2
800,000& = 104 = 12& 9,600
02 2524l 4,899 0 4,899
O==Me E T2OHEH2 SIS RFH|
1,173 = 8elE * 240 2,145
OHF AR EHl KAl 2,754
O=AtJ| 19,415,000& =1CH = 8% 1,554
OE2HZgH 15,000,000& = 1CH * 8% 1,200
202 04l 17,280 17,280 0
01 = LH 4 Hi 17,280 17,280 0
OJIEZ 17,280,000& 17,280
203 R =&t 4,200 4,200 0
04 FN2ELRZ=TH| 4,200 4,200 0
O©J| & (302!0l5t) 350,000 * 123 4,200
HWees(HE8nseE: T2AE) 3,230,000 1,166,735 2,063,265
HEHHX S 3,230,000 0 3,230,000
LHEHeH X = 3,230,000 0 3,230,000
705 ==& cl 34 3,230,000 0 3,230,000
o= 4s 3,000,000 0 3,000,000
OFg~23, E2~JtE, 432822t &
ZHE 8ltz =48 3,000,000, 000& 3,000,000
02 Ofl =3 Ol A+ & & 230,000 0 230,000
OFY~2s, E2~t8, 4g833~FZ2H &
2L s8kt= 0kt 230,000, 000& 230,000




N = 0l & At & Ml A

N AdENSER NSEHY
Yy otMptn ®EIs uEEd Ad
Sl DEIH 2 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AENsE? nEsd¥ 926,893 1,331,308 AN404,415
Xl 155,034
< 31,634
Al 740,225
OHMGID Helst nsed AE 405,000 211,140 193,860
NS e 225,000 0 225,000
nsiE =g 225,000 0 225,000
207 RO 225,000 0 225,000
01 H23 39l 225,000 0 225,000
OFFA TALNESEH SIHE =€
225,000,000& * 14| 225,000
2 g2 =2 180,000 0 180,000
A E2Z0I2 &3 180,000 0 180,000
207 O H] 180,000 0 180,000
01 289 180,000 0 180,000
OBFA HEOIBHY N J2HE 28
180,000,000& * 14l 180,000
FdF=zgads 521,893 120, 168 401,725
X 155,034
S 31,634
Al 335,225
=38 2435 521,893 120, 168 401,725
Xl 155,034
< 31,634
Al 335,225
A=z 243 AMEXA 232,523 120, 168 112,355
201 Let24d] 30,000 26,008 3,992
01 At 22l 30,000 26,008 3,992
OF=3¢g 0l2dt)l 25 AN 5,000
Oz&&ds 28 M
500& * 5,000% = 23] 5,000
OX¥zF=& AXNE M1 EE
20,000,000& * 14! 20,000
OFZ=38 JISAR H= 5,000
OA& (M X L&) M 80,000& = 504 4,000
O0lE hod 20,000 * 5004 1,000
202 044l 1,440 2,160 AT20
01 SLHOYI 1,440 2,160 AT20
omFzZE a3 LT oYl
20,000 = 2 * 3 * 123 1,440
203 YR =&t 1,000 2,000 A 1,000
03 Al =AY R =& 1,000 2,000 A 1,000




2N
X ZH -
L= B

el

03t 0 Y

Az
0K 0K K

- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o %@i HRE2
OZ2%, 83 243 g4L2FX 1,000,000 1,000
301 et A= 70,000 70,000 0
11 J|EtE A2 70,000 70,000 0
OFF=Z2% 243 MEXNE BA42
70,000,000 70,000
306 52 130,083 0 130,083
o1 &2 130,083 0 130,083
OFHFA S&S MAZEZ2THE ?EH &A
30,083,000 130,083
NEHEMERA AHSES 222,370 0 222,370
N 155,034
& 11,634
Al 55,702
307 2iztol A 124,870 0 124,870
Xl 77,034
& 5,784
Al 42,052
02 QIZ2IA AAIE E X 124,870 0 124,870
OBZIY B2 'HAY B ZauE
124,870,000 124,870
N 77,034
= 5,784
Al 42,052
401 AlEHIZL £ 0HY| 97,500 0 97,500
Xl 78,000
& 5,850
Al 13,650
01 Al&EH| 97,500 0 97,500
OstBLFHE MZHH AX 97,500,000 97,500
Xl 78,000
= 5,850
Al 13,650
2 g8 SHA HE 67,000 0 67,000
= 20,000
Al 47,000
201 et | 67,000 0 67,000
= 20,000
Al 47,000
01 AP 2t 2| bl 67,000 0 67,000
OBZ2NZY 22 SYY ME
67,000,000 * 14! 67,000
o= 20,000
Al 47,000




2N
X ZH -
L= B

el

Al

210 ¥
Off 0IR nx
B2 K
O Of ot
LRSI
0z O HT

g Al

A

SN FH-SA(EN) - MBAY - BES

Off &t 24

dEE
Off & 24

a4

NEER HEWESH

= N H

75,

218,003
391,803

,821,788
72,

004,412

69,705,

308

5,512,695

|0

0R
2
O
S|
O

= N H

75,

71

167,655
391,803

,821,788
,954,064

69,637,

884

5,529,771

= Hn A

75,

71

167,655
391,803

,821,788
,954,064

69,637,

884

5,529,771

ANUBA(SHE) 2SME HEXE

Al

,620,394

310,197
310,197

4,680,

564

A60,170

307 glztol &

Al

,620,394
,310,197

310,197

4,680,

564

60,170

o
«©
HO
1
1%
=
T
N
i

©
=
=
o
Q
i

HASSAEMEXA

4,620,394,000&

= M

~

Ao S

,620,394

,620,394
,310,197

310,197

4,680,

564

260,170

>
0z
=3
>
M
e
HT
FA

=z M H

683,606

341,803
170,902
170,901

,032

A 508,426

=z N H

683,606

341,803
170,902
170,901

,032

A 508,426

97,658,000& * 7CH

= 0 H

683,606
683,606

341,803
170,902
170,901

683,606

, 749,000

5,749,

000

, 749,000

5,749,

000

100,000,000& = 1CH
5,649,000, 000&

, 749,000

100,000

,649,000

5,749,

000

H

15,842
15,842

,842

307 21201 A

2l

15,842
15,842

,842




2N
X ZH -
L= B

el

Adns=8 Hsusy
csHE NS
Hsnssd XN

5 - 4
A FB B (EN) - HRAY - BES 0l &t o il HImEET
09 2HAHAEXS 15,842 15,842 0
OHBXLd =224 228H BEX3
15,842,000& 15,842
< 15,842
SOtHI & HH YR FI (RS Z0F) 3,000 1,800 1,200
201 £B-2dH| 3,000 1,800 1,200
01 At 22l 3,000 1,800 1,200
OHl AU ERF=A 3,000
OuUsSaAAMAE M2 120,000& » 25& 3,000
A QIOHAMERAl 2 XI& 190,000 199,332 29,332
307 21201 A 190,000 199,332 A9,332
02 QB AAHE X 190,000 0 190,000
OAIRICHAEIAI(AlIRIZ) 2l XI&
237,500,000& * 80% 190,000
ANUHHARS S A3 XA 5,664,086 5,400,000 264,086
307 21201 A 5,664,086 5,400,000 264,086
09 2+=HAHEBEXS 5,664,086 5,400,000 264,086
OHEFAUHA RSHL3 &4EH
5,340,907,000& 5,340,907
OTFENHAM AlHHA RS 2AEAH
323,179,000& 323,179
NN SEHA XA 9,647 28,941 N 19,294
< 9,647
307 glz2+ol & 9,647 28,941 A 19,294
= 9,647
09 2+=HAHEXS 9,647 28,941 A 19,294
O2NTAN SEHA 2 XN
9,647,000&  1CH 9,647
< 9,647
AMUHA S22 10,441,000 6,000,000 4,441,000
307 glz2tol & 10,441,000 6,000,000 4,441,000
09 2HAHAEXS 10,441,000 6,000,000 4,441,000
OANUHA 2585 23 10,441,000,000& 10,441,000
2x8H |ItEx32 A& 44,626,000 43,751,000 875,000
307 21201 A 44,626,000 43,751,000 875,000
09 2+=HAHEEXS 44,626,000 43,751,000 875,000
O2xglH RFEEX=S 44,626,000,000& 44,626,000
BHAIDIEZM =2 XN& 904,000 774,055 129,945
< 223,200
Al 680,800
307 21201 A 904,000 774,055 129,945




FN: dENSER HsnsH
M os5UHELS
g2 snssd N (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 223,200
Al 680,800
09 2+HAHEEXS 904,000 774,055 129,945
OH™HAIIIEZN =2 XN 744,000,000 744,000
< 223,200
Al 520,800
OBASIEZT 442 X (BHA~1HHH)
160,000, 000& 160,000
YU I 08 =sdt8 88 127,680 127,680 0
201 Let24d] 127,680 20,160 107,520
01 At 22l 127,680 20,160 107,520
OJHUEHAIOIE set=2 210 M
90,000& * 104CH 9,360
Ost=018 s&t2 21 HA
90,000& * 120CH 10,800
OIHAUHAIOE sttt 20s
40,000 = 10400 » 12& 49,920
Ost=018 s&ts 212
40,000 = 120CH = 12& 57,600
AU(SY)HA 2832 &4E 59 170,000 59,000 111,000
207 Ao 170,000 59,000 111,000
01 A3 39| 170,000 59,000 111,000
OANU(BE)IHA 2E#HEAZ A4F 29
170,000,000& * 14 170,000
A 2 212,000 307,638 A 95,638
307 glz2tol & 212,000 307,638 A 95,638
09 2HAHAEXS 212,000 307,638 A 95,638
O=3gHA 2Ll 106,000,000& * 2CH 212,000
ANZ=0tEs d=28A &¢ 230,000 175,000 55,000
= 50,000
< 92,000
Al 88,000
301 et a3z 230,000 175,000 55,000
= 50,000
< 92,000
Al 88,000
MIIEE43 230,000 175,000 55,000
OAl=0tE #H=EEA &2 EX 230,000,000 230,000
= 50,000
= 92,000
Al 88,000
AMUHA &M A OB 1,513,400 4,000 1,509,400
201 Let249] 237,800 0 237,800
01 At 22l 237,800 0 237,800




FN: dENSER HsnsH
M OSHELS
g2 snssd N (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
oLsiE g8 237,800
OLdilE 222 MH 28,000
-EE®MER(A4) 100& * 100,000% 10,000
-E 8 MR (A3) 180& = 100,000% 18,000
Ose g9 M 70,000& = 140% 9,800
OANU(SE)HA ST HZ
5,000& = 20,0008 * 23| 200,000
301 et a = 8,000 4,000 4,000
09 HALAHIE& S 8,000 4,000 4,000
CaFRFAH & =0oAH=F 8,000
OdiE ARFAH HA=Z
300,000& = 102l 3,000
O &H3 500,000& = 103l 5,000
401 A& HI L 20l 728,000 0 728,000
01 A& HI 725,000 0 725,000
OL=HdIMNEN HE AMENA 725,000
OsZd detllE &X
150,000 = 1,5000H £ 225,000
Oz# (A )HAFESE 84X & 0l 500,000
RARIE=PN 12,000,000& = 300H & 360,000
-0l EX ¥ 2= 2,000,000& * 700H £ 140,000
03 Al 2 THHI 3,000 0 3,000
OLEIMEN 8 AEMS AIER U
3,000,000 3,000
402 RI2EX20| ™ 539,600 0 539,600
01 2I2F 2 A B (RERTH ) 539,600 0 539,600
OL-EMEN OE HAOIDIX MHA 475,600
Ol &M 2,700,000& * 100CH 270,000
OLED #HX M2 o =0 i
5,400,000& * 30CH 162,000
Ogt&scY) EX(BXE)
310,000& = 201 = 30CH 18,600
O=HHEX AHUHEXE M &
10,000& * 2,500H 25,000
O REEXN RBUHAE &X 64,000
Ostaa &X 15,000,000& * 200 & 30,000
OsH4 &X 9,000,000& * 200 £ 18,000
(OFSWIF=VN; 5,000,000& * 2JH A 10,000
O=E3AM 3,000,000& * 200 £ 6,000
SASADHE AAY S 8,000 0 8,000
207 & 51 OH £ Hl 8,000 0 8,000
02 & AR I 8,000 0 8,000




FN: dENSER HsnsH
M os5UHELS
oo HEDESH N (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OZASMIME AAE F(H2A EA])
8,000,000& * 14 8,000
HH2HAIH(HEnSEE HERSH) 50,348 59,044 A 8,696
Jl=ZHI(LErEIA) 50,348 59,044 A 8,696
Jl2ZHI (LBl A 50,348 59,044 A 8,696
201 2et24d] 22,088 18,564 3,524
01 At 2teltl 22,088 18,564 3,524
OJlege=ad 11,000, 000& 11,000
O=ZHI(J1E&HI) 11,088,000& 11,088
202 oddl 23,760 17,280 6,480
01 SLHOYI 23,760 17,280 6,480
O=3UabI(2IEZHl) 23,760,000 23,760
203 B R =&l 4,200 4,200 0
04 FEXNSELR=LH| 4,200 4,200 0
ORNMSYY2FAHI(302 0lat)
350,000& = 123 4,200
405 XtaHE SHI 300 19,000 A 18,700
01 AR ESFH S 300 19,000 A 18,700

HI 300,000& * 19K 300




N = 0l & At & Ml A

SN ALDESS SHEY I
M UHL SMots etAE MAEGHA
& 32 S HWRE St s 2el (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
AENSEF ot L 21,588,602 17,793,158 3,795,444
= 4,348,000
Xl 5,668,000
= 1,931,600
Al 9,641,002
A BHote MG MABA 21,546,642 17,757,898 3,788,744
= 4,348,000
Xl 5,668,000
< 1,931,600
Al 9,599,042
=32t S HRE otd SR 2,839,369 3,127,086 AN287,717
= 75,000
Al 2,764,369
WEE &= S 2e| 2,193,646 2,264,583 270,937
201 2et2d]| 726,653 475,304 251,349
01 At 2teltl 534,108 273,660 260,448
O1AL 1ot ME2s 288 £ =5 9,600
Ocl2d & g8 200& = 10,0000H 2,000
Og+=9 70,0003 = 304 2,100
O&3t 15,0002 * 1004 1,500
(OF = 500& = 2,0000H 1,000
OM= ¢ & &7 2,000& = 1,0000H4 2,000
Oam 100,000& * 104 1,000
OR4A 20 EAY B+
45,0002 * 114 * 43| 1,980
OFIIGABL HHLL2 (W22, HEE)
200,000& * 8 A  12& 19,200
OXItE HII&H HIIZF A2 A)
1,000, 0002 1,000
ObI+& LoHHBA 442
100,000& = 50 » 12& 6,000
ORAME RANEES A2 (I SsHESAL
82,000,000 82,000
ORME RAUES BUS (B2 TEA S AL
80,000& = 27.37& » 180 394,128
OZHl AXE (24D, €2)
500,000 * 20CH 10,000
Ootd &l &AL & NEHAE IS
800,000& = 12& 9,600
O T2 )d RIAESH| 600,000 600
02 33224l 192,545 201,644 A 9,099
OXIILB(=F, =2, =Y, =0, &,
CCTV, st&4A 5) 9,000,000& = 12& 108,000
O4ot==E23 (=0 2)
1,000& = 300E » 3MA « 123 10,800




SN ASDEST YD
M AN Mot HME MHGHA
Chel: =32t S HRE ot s 2te (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OsSa23(CCTV, M &)
150,000& * 12JH 4 + 12& 21,600
OotEAIZEH RXE =l
50,000,000& * 14 50,000
oOxERFHI 1,173 = 8elE * 240 2,145
203 R =&Yl 2,000 1,000 1,000
03 AIMZFAH S =AY 2,000 1,000 1,000
Ootded HRF& 2,000,000& 2,000
206 M= Hl 17,760 16,920 840
01 =8l 17,760 16,920 840
OR4H stEA Tﬂﬂ%%(if&ﬂ %*@Iﬂ, EN
=88) 70,0003 * 140 » 12& 11,760
OstdAIEE 22 EE(HI, EAEE 8)
500,000& = 12& 6,000
401 AIEHIZ 28I 1,277,233 1,601,359 A 324,126
01 A& Bl 1,273,440 1,595,686 A 322,246
AN BRI M (RAFW ~ (X0
) 3883 * 120,000m" = 23| 93,120
ORAMFE EXU)| AG(RAFHW~HYGW(R0H))
388& =+ 55,000m" x 23] 42,680
ORAME EZ)| AZ(HYw ~ D21 (H0H))
388& = 80,000m x 23| 62,080
ORAME EZ)| AZ(HYuw~ D2u(R0H))
388& = 60,000m = 23] 46,560
OR4A EX,33 & &MZ K2
388& * 250,000m * 13 97,000
OXgotd AU (=SHAH, ANIEE S)
150,000, 000& 150,000
OR4H 22 Rollal=2 MA
5008 * 150,000m" * 23] 150,000
ORAE AN&ETH ¥ RAEX(MNYZ, W6
2, gd2te F) 100,000, 000& 100,000
OR4&E HEE ZCX =4
28,000,000& * 1JH 2 28,000
Ootd MIIAE=2 2=l 10,000,000& * 14 10,000
ORAF SHF2CAS (FEAY L otd HA,
AN&s 22l) 246,000,000 * 14 246,000
ORHAE LAY KXl
7,000,000& = 14 7,000
Oti==2 AlE s 2e 7,000,000& = 14 7,000
OsSAAE SR 2el 14,000,000& * 14 14,000
OH+E U H+2 FUHAR
220,000,000& * 14 220,000
03 Al 2 0HHI 3,793 5,673 A 1,880
OAIE=HHI 1,053,440,000& * 0.36% 3,793




2N
X ZH -
L= B

el

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
403 XX SHHS K20 & 170,000 170,000 0
02 BSOS XA=2E S AFEHI 170,000 170,000 0
OHST ISl (404 )
170,000,000 * 14! 170,000
AR GIATZ HMNFP2Z SSALY 28,000 0 28,000
401 Al EHI L 204 HI 28,000 0 28,000
01 Al&H| 28,000 0 28,000
2MA SIATZ HNFP2 SAAIE AAIEH
29 28,000,000& * 14! 28,000
ol&EG R MY DI ASALE 107,000 107,143 A 143
= 75,000
Al 32,000
401 Al HI L 2 0HHI 107,000 107,143 A 143
= 75,000
Al 32,000
01 Al&H| 107,000 106,372 628
Odtdot7 MY D HSALY 107,000,000 107,000
= 75,000
Al 32,000
=IJIol& SX 22 AL 44,240 33,670 10,570
201 B9 42,200 33,670 8,530
02 =224 H| 42,200 33,670 8,530
02222 ¥ HMA 42,000
Otl+=2 Sd3H AMES
150,000 * 200H A = 12&€ 36,000
Otle=2 dJIe=3 500,000& * 12& 6,000
Ot ZAl OIEX BE2 200,000 = 1CH 200
202 04d| 2,040 0 2,040
01 2Ll 2,040 0 2,040
O=Z2LH0HI (& E=) 170,000 » 1 x 128 2,040
2SS THAHGHA) 22l 6,896 0 6,896
201 et 9| 6,896 0 6,896
01 AP 2t 2] H| 446 0 446
OZKMA A2 23 DX A QA4 446
OzsSE 150 = 2,0000H 300
O1DXA 72,600) * 28+A 146
02 =224 H| 6,450 0 6,450
O=2F M 2Zelxx=x2 6,450
OZHEY =5 545,0008 * 102 X 5,450
OSI=EE =2 50,000 & » 202 X 1,000
=Y MHIAFY 459 587 500,690 A41,103




M- =8 .o (3H) - MBAY - BA2 0fl Ak o8 ﬁlgﬁ HDS2
307 QI2+0| ™ 225,000 0 225,000
02 QIR A MAR BT 225,000 0 225,000
oXSH HRPY(2AN) 225,000, 0002 225,000
401 A& HIZ SO 174,327 187,853 A13,526
01 Al& I 174,327 187,853 A 13,526
OYFHNY FUSAAL(3HH)
174,327,0002 174,327
402 IR0 60,260 312,837 ~252,577
SR ENEEER T ED 60,260 312,837 £252,577
CEWERNTESPE-YIET-EIp
18,865, 0002 8,865
002 REYBAE ZAH(2E12])
18,865, 0002 8,865
OFBZE SN2 U N2S Byl A (SHA2
21) 22,530,0002 22,530
WoHZSE oHEE 51 & R bl 7,458,096 5,474,581 1,983,515
2 500,000
7y 2,868,000
= 337,000
Al 3,753,096
SAHBAL SXBL 105,096 101,496 3,600
201 L2 bl 60,096 56,496 3,600
01 AL 2reltl 2,496 2,496 0
OUSKT SATFAL MDY 4
2 298,000¢! * 63 1,788
OMUKT SLTFAIL HIQFFD2IHY 4
2 18,0002 * 63 708
02 2zl 57,600 54,000 3,600
CNEETES T 30,000, 0002 30,000
O3TR2 ¥ MAl 27,600
0FIIRS 2,000,0002! * 244 * 6% 24,000
OSusd N8R
50,0008 * 2JH4 * 128 3,600
401 A& HIZL SO 45,000 45,000 0
01 Al& I 45,000 45,000 0
ORLHEAL B2 45,000, 0002 45,000
N 5hE S X 22l Al 187,000 123,000 64,000
= 187,000
401 A& HIL 2O bl 187,000 123,000 64,000
= 187,000
01 Al& I 187,000 123,000 64,000
ONLBEE S B2l 187,000,00024 187,000
= 187,000




SN ALDERS SGHEYHI
M NADY ENHols e MHSIA
2 Mol E ot SH ol & A | (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Mol /e X2 Al ALY 1,000,000 200,000 800,000
= 500,000
& 150,000
Al 350,000
401 Al HIZ 201 Y| 1,000,000 200,000 800,000
= 500,000
= 150,000
Al 350,000
01 Al&H| 994,000 198,600 795,400
OMBXT? MHREAIE HEIAY
994,000,000& 994,000
= 497,000
& 149,100
Al 347,900
03 AlE 201 Y| 6,000 1,400 4,600
OAIE X THOHRAIEAIE HHIAIE A& 20|
6,000,000& 6,000
= 3,000
& 900
Al 2,100
SHAGIE HHIAMY 360,000 0 360,000
Xl 180,000
Al 180,000
401 AlEHIZL 201 Y| 360,000 0 360,000
Xl 180,000
Al 180,000
01 Al&H| 358,000 0 358,000
Ozd Aold HUIAY 358,000,000& 358,000
Xl 179,000
Al 179,000
03 AlE 2 HH] 2,000 0 2,000
O&%d AotdE HHAIY AIEE0HY]
2,000,000& 2,000
N 1,000
Al 1,000
=Z A0l UMY 360,000 0 360,000
N 180,000
Al 180,000
401 Al HI L £ 0HHI 360,000 0 360,000
N 180,000
Al 180,000
01 Al& B 358,000 0 358,000
OF& Aotd HHIAIY 358,000,000 358,000
Xl 179,000
Al 179,000
03 Al&E 201 Y| 2,000 0 2,000




SN ASDEST YD
M AN Mot HME MHGHA
el W22 H tMEH St JHI (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OFZ 40td HUIAY AIE2010]
2,000,000 2,000
Xl 1,000
Al 1,000
LH=A06HE ZHIALS 1,816,000 1,000,000 816,000
Xl 908,000
Al 908,000
401 Al& I 28I 1,816,000 1,000,000 816,000
Xl 908,000
Al 908,000
01 A& HI 1,816,000 994,000 822,000
OUz= A0HE FHAY 1,816,000, 000& 1,816,000
Xl 908,000
Al 908,000
e ActE FUAY 940,000 1,050,000 A 110,000
Xl 470,000
Al 470,000
401 Al B2 28I 940,000 1,050,000 A 110,000
Xl 470,000
Al 470,000
01 A& HI 936,000 1,046,400 A 110,400
O+ AdtdE HHIAY 936,000,000 936,000
Xl 468,000
Al 468,000
03 Al =20 HI 4,000 3,600 400
OTE ABE FHHIAY ALRUH
4,000,000 4,000
Xl 2,000
Al 2,000
AHOF AGHA FHIALY 2,260,000 150,000 2,110,000
Xl 1,130,000
Al 1,130,000
401 Al HI L 2T 2,260,000 150,000 2,110,000
X 1,130,000
Al 1,130,000
01 A& Hl 2,252,000 149,000 2,103,000
O4&t9t AGHE FUIAY 2,252,000, 000& 2,252,000
Xl 1,126,000
Al 1,126,000
03 AIE 2 0H bl 8,000 1,000 7,000
O4&tet AGHE FUIALY A& R2C0HYI
8,000,000& 8,000
Xl 4,000
Al 4,000
LG R E AL 400,000 0 400,000
401 Al HI & 28I 400,000 0 400,000




SN ALDERS SGHEYHI
HH: KOl BNGE OEE M
Sel MHZRE oHEs ot @ (29l 8)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 A& HI 400,000 0 400,000
OAGtE KX E =4I 400,000,000& 400,000
SAANY BHY Dl=8X 4 30,000 30,000 0
401 Al Bl 28I 30,000 30,000 0
01 A& HI 30,000 30,000 0
OActd OI=2EX 24 30,000,000& 30,000
A ItAHOl 2ESH= MEHSHE =4 11,249,177 9,156,231 2,092,946
= 3,773,000
Xl 2,800,000
< 1,594,600
Al 3,081,577
SAE Do L HUIAY 5,569,177 3,966,667 1,602,510
= 3,773,000
= 754,600
Al 1,041,577
401 AIEBIZ 201 8I 5,569,177 3,966,667 1,602,510
= 3,773,000
< 754,600
Al 1,041,577
01 A& Hl 5,286,089 3,727,107 1,558,982
OR4aA Nekol 2 HHIAY  5,286,089,000& 5,286,089
= 3,581,214
< 716,243
Al 988,632
02 Zeltl 270,088 229,560 40,528
ORad N 2 FHIAY 2l
270,088,000 270,088
= 182,979
< 36,596
Al 50,513
03 A& S THHI 13,000 10,000 3,000
OR4E neto 2 HUIAIY AIZR0Hl
13,000, 000& 13,000
= 8,807
< 1,761
Al 2,432
SAYt3d MESHE SRAS 2,800,000 0 2,800,000
Xl 1,400,000
< 420,000
Al 980,000
401 Al I 28I 2,800,000 0 2,800,000
Xl 1,400,000
< 420,000
Al 980,000
01 A& HI 2,790,000 0 2,790,000




SN ALDESR oY
o

M UHL SMots etAE MAEGHA
S AP 0l SESHE MEHotE =4 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O A3 MEoIE SEAE
2,790,000,000& 2,790,000
Xl 1,395,000
< 418,500
Al 976,500
03 A& 2 THHI 10,000 0 10,000
O A3 MESIE SRAY
10,000, 000& 10,000
Xl 5,000
< 1,500
Al 3,500
Sotd MEHSHE SJAS 2,800,000 0 2,800,000
Xl 1,400,000
< 420,000
Al 980,000
401 Al HIZ 201 I 2,800,000 0 2,800,000
Xl 1,400,000
< 420,000
Al 980,000
01 A& HI 2,790,000 0 2,790,000
OXMstd MEHSIE =SR—AY  2,790,000,000& 2,790,000
Xl 1,395,000
< 418,500
Al 976,500
03 Al =2 THHI 10,000 0 10,000
OXstd MEistE=S3 MY AIE 2L
10,000, 000& 10,000
Xl 5,000
< 1,500
Al 3,500
Ols&d 24 SLIHE At 80,000 0 80,000
307 21201 A 80,000 0 80,000
02 QB AAFEX 80,000 0 80,000
Oblsd, 2ad 2ULIEHE A 80,000,000 80,000
HYRIZH (HE NS St D) 41,960 35,260 6,700
Jl23&dl 41,960 35,260 6,700
JlE2zl 41,960 35,260 6,700
201 Let24d] 15,060 15,060 0
01 At 22l 15,060 15,060 0
OJlege=ad | 7,500,000& 7,500
O=&HI(J1E&HI) 7,560,000& 7,560
202 044l 16,200 16,200 0
01 = LH o4 1l 16,200 16,200 0
OJI&& 16,200, 000& 16,200




EXN: AEnNsSE22 ofd 2L
HM: HY2HAY(HENEES ot L)
Ee: I3 (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
203 R F & 3,000 3,000 0
04 EASHEIRFAH| 3,000 3,000 0
©J|&=M (1521 0]56}) 250,000 ~ 12€ 3,000
405 XHAHFEEHI 7,700 1,000 6,700
01 XA 2B F S| 7,700 1,000 6,700
O & Xt= A 5,500,000& = 1CH 5,500
OLEZ= 1,500,000 = 1CH 1,500
OHNED| 70,000& = 10CH 700




